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Choose the mdlrec:t speech for the
{ following direct sentence:i-

He said, ‘I have been waifi;?g for ages.’
_A2) He said that he had begn waiting for

ages. =

(b) He says that he has bieén waiting for
ages. N I

(c) He said that he has been waiting for
ages. *

(d) He said that he is I:mmg waiting for
ages. A —

Identify the correct spelhng from the

options given below. "_

(a) Enterprenure )

(b) Enterpranore
}p} Entrepreneur
(d) Entraprenure

Fill the correct form of ve:rb.m the given
sentence. [
Many a man dEéEi for his
country. e —
_{a) has (b) was

(c) is (d) have
Complete the sentence with proper
pr&pnmtmm o
We usually finish work ea_rly =
Fridays. o
(a) at (b) during

e) on (d) 11[:1{7

Fill in the blank from givénieptions.

By next July, I in this office
for ten years.

(a) will work

(b) will have been wnrlung

(c) worked

(d) will be worked

: '
il

Choose the correct active form of the
sentence. ‘;

They were seen to go outy i

(a) 1saw them go out.

(b) They were seen to go out.

(c) He saw them go out.
(d) We saw them go out.

CIZU-2-24
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following sentence.

She wrote this article her
holiday.
~(a) during (b) in
(c) on (d) by
33. What is the meaning of the word ;:..;
‘ephemeral’ ? (=]

Aa) Permanent
(b) Mysterious
[c) Temporary
(d) Loud
Identify the correct spelling from the options
given below.

34.

/[a] Reservoir
(b) Reservoure
{c) Reservor

{d) Reservour

35. Fill the correct form of verb in the given

sentence.

Either of these two pens
(a) are

(b) have

o) is

(d) has

Direction (Q. Nos, 36 to 40} : Read the passage
below and then answer the questions that follow.

It has been part of Nelson's prayer that the British
fleet might be distinguished by humanity in the
victory which he expected. Setting an example
himself, he twice gave orders to cease firing upon
the Redoubtable, supposing that she had struck
because her great puns were silent; for as she
carried no flag, there was no means of instantly
ascertaining the fact. From this ship, which he
had thus twice spared, he received his death. A
ball fired from her mizzen-top, which, in the then
situation of the two vessels, was not more than
fifteen yards from that part of the deck where
he was standing, struck the epaulette on his
left shoulder about a quarter after one, just in
the heat of action. He felt upon his face on the
spot which was covered with his poor secretary’s
blood. Hardy, who was few steps away from him
turning round, saw three men raising him up.

good.

e . e g i s i i . i .
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*They have done for me at last, Hardy I” said he.
‘I hope not I” cried Hardy. “Yes”, he replied, “my
backbone is shot through 1" Yet, even now, not for
a moment losing his presence of mind, he observed
as they were carrying him down the ladder, that
the tiller-ropes which had been shot away, were
not yet replaced and ordered that néw ones should
be roped immediately. Then that he:might not be
seen by the crew, he took out hi¥ handkerchief
and covered his face and his stars’ Had he but
concealed these badges of honour from the enemy,
England perhaps would not have had cause to
receive with sorrow the news of battle of Trafalgar.
The cockpit was crowded with wounded and
dying men; over whose bodies he was, with some
difficulty, conveyed and laid upon a pallet in the
midshipmen’s berth. It was soon perceived, upon
eéxamination, that the wound was_mortal. This,
however, was concealed from all, except Captain
Hardy, the Chaplain, and the medical attendents.
He himself, being certain, from the sensation in
his back and the gush of blood felt momentarily
within his breast, that no human care could avail
him, insisted that the surgeon should leave him

and attend to those to whom he might be useful.
ol
36. Why did Nelson insist that 'the surgeon

should leave him and attend!ic’others ?

(a) He believed that he could'recover
without help ( :}

(b) He felt his injury was ndfjseﬁous

(¢) He wanted privacy in his final
moments

_Ad) He know he was dying and wanted the

surgeon to help others

37. What is meant by “midahip:;r:l:ejm" ?
Ad) An officer of the highest'tank in the

navy —
(b) An officer of the middleirank in the
. navy i
(¢) An officer of the lowest rank in the
navy
{d) An officer of non-commissioned rank
in the navy

38. What qualities of NE]SDII’S:.E%I;]EIB.C’EEI' was
revealed by this passage ? ¢,
(a) Silence, confusion and deétachment
(b) Cruelty, ambition and qt;._’nning
_le) Bravery, patriotism antﬂ;,-tl:i,zmanitjr
(d) Greed, pride and recklessness
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39. What do you understand by the
“mizzen-top” ? :
(a) The highest point of ship’s bow
(b) The roof of the ships cabin
(c) The captain’s look-out post
/Ld} The platform around the lower part of
the most nearest the stern

40. Choose the antonym of “presence of
mind”.
(a) Quick thinking {b) Panic
(c) Attentiveness (d) Alertness

41. Choose the correct preposition for E
given blank in the idiom. E]' ""
Cry split milk.
{a) on (b) at
(c) upon {d) over
42, What does nefarious mean ?
la) Honest
(b} Morally bad
J,D:]" Extremely wealthy
(d) Very fearful

43, Choose the correct passive form of the
sentence.

‘The company has cut all the salaries.’
{a}- All the salaries have been cut by the

. company.
(b) All the salaries are cut by the
COITIpALLY. »

(c) All the salaries should have been cut
by the company. .

(d) Salaries should have been cut by the
company.

44. . Which type of noun is used in the sentence
- ‘The crowd was very big."?

(a) Proper. (b) Abstract
() Common @rﬂnﬂective

45. Fill in the blank by choosing from the
options given. E =]
He is suspicious allhis [g

neighbours.

44] from

(b) of

(c] before B
(d) none of the above
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46. Find the odd number out.
1,2, 4, 8, 16, 32, 64, 96
(a) 32 _Ab) 96
(c) 4 (d) 64
L_l_.l
47. A, B and C are employed to do a piece of
ELE worlk for Rs. 529, A and C are supposed

FE!: to finish é——g of the work tﬂgether How
much shall be paid to B ?
[a) Rs. 82 (b) Rs. 437
c) Rs. 92 (d) Rs "'é?uu

48. Which of the following pa;rs '15 NOT
correctly matched ? -
(a) Kohler - Insight ThEE}I]?, ik
(b) Lewin — Field Theory .
(c) Skinner - Operant Cundmomng
(d) Pavlov - Stimulus Response Bond
Theory

49. Which number has same property as of the

following numbers ? i
(957, 777, 876) sy

(a) 999 ) 894..
(e} 697 "ﬁ} 9797

50. From the following altemauves find the

one that does NOT belong to1he rest,

(a) DHG (brInk'
{c) CGF

(d] HLK
vyt 5 v
51. Pointing to a photograph a.woman said,
[El#*[E “She is the only daughter nf‘ -my mother’s
E father”. How is the woman- reIated to the
person In the photograph ?
Mother (b) Gra.nd daughter
P g
[¢) Grandmother (d) Daughter

52. For any two sets A and B, what does
— (A — B} equal ?

(a) A-B
~lc) B
53. Find the missing number ;Ilﬁthe following
number series. e
3,5,8,10,7,15,18,20 ()

el 13 (b) 11

c) 14

(b) AYB
(d) AnB
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1,2, 4, 8, 16, 32, 64, 96

(a) 32 (b) 96

(c) 4 (d) 64

A, B 37K C 1 529 7 # G W wH & frg
forn v 2 | A 3T C %1 Tiet ® M

1 12 v ot s 2 1 B Y fovee T P

R 7

(a) 82 %R (b) 437 &4
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il i # & F-w a@ gART AR © 7
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(957, 777, 876)

(a) 999 (b) 894

(c) 697 (d) 979

Preiferfan feped] § 8 9 fwed gfi %%E!
N R TR 21 EEE
(a) DHG (b) JNR

(c) CGF (d) HLK
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(c) Reception - (c) sfmmEe =
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55. A 280 meter long train 3§'j;moving at | 55. 280 e @ T wmd 60 . o TR
60 km/h. The time taken by:the train to £ T B e W R | 220 Hie T For w O
cross a 220 meter long tunnel, is w0 1 et w1 e v @i 7
(a) 15 sec. (b) 30 sec. (a) 15 BeFve By 30 HFUE
(c) 20 sec. (d) 25 sec. (c) 20 FHE (d) 25 ¥HS
56. Pointing a photograph, a man'said, “ have | 56, T BRI 7?":‘ ST Her U FY T A A
Ei5[E no brother and sister but(the father of e, YT I TS T TET e @ 9 I S W
P:’ that man is the son of my father”. Whose II Ry i e =7 O 2 aﬁﬁmﬁﬁﬂﬁl% ?
= photograph is it 7 et i i
A= His son's E'?_ | ) g
: : O3 : (b) FEEHT AT
(b) His own |
(c) His father’s | (c) Ta firan =1
(d) His nephew’s | (d) 38 Wl = " EE
: 7 z = e ERID T"ﬁ%”m-: Bl
. If “No scientists are philosophers” is true, | 57. afe @fg‘ % it
= !a.rhic% %crignnfsthe fauEMg propositions is ', o P § T = ﬁiﬁ-ﬁlﬁ:ﬁ ‘H? d7 M=
true ? ) i e FE G CRIE G |
) Some non-philosophers are not b Sty
non-scientists. LE i (b) & ) .
(b) Some philosophers are selentistest - (o) = amEmifrs daFes A g |
¢) No non-philosophers are:sClentists. Az gt € 2
[Ed] All scientists are philosophers¥ E (d) wh g o
i 2 Thid
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P dig it in 12 hours. In how fgny hours = | ot 3 e T & 7
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8. Hleven fonnus the others once. ey frrema | w-Tver <t weafE e
shakes hand with each of the ; e
The number of possible hand shakes 15 (a) 65 (b) 22
2
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ol & 1:2'65 ht::r’s age. After twel‘i’E:YEars the age Tﬁ & | 9@ adi o a1 Wl i AT
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number is increased by 10, the ratio
becomes 5 : 7. The numbers are

e 7"

(@35 “%* () 18,30 2
-t L. A

) 12, 20 %,1-“' ‘;5’

@15, 25

find the compound interest on:the same

sum for the same period at the same rat
M) Rs. 1,261 (b} Rs. 1,690

() Es. 1,400 (d) Rs. 1,575

63. The choice of mmmun.in:atic:ﬂ'partners
influenced by factors of ;
=] Utility, secrecy, dissonaﬁéé
(b) Proximity, utility, loneliness
(c) Secrecy, dissonance, deééﬁtinn?
(d) Dissimilarity, dissonance, deviance

62,
==
=i

64,

P
‘b ‘{D’()

The graph of a linear equation

2x + Sy = 10 is a line, which meets the
x-axis at the point
(a) (0, 2)

et (5, 0)

65. If all the sides of a parallelogram are
equal and one angle is a right angle, the

it is called as
-]

(a) Rectangle
(c) Trapezinm

What are the seven secrets of attractive
body language ? e,

Face
Gestures. Ca
Cultural -
Head movementy
Comfortable

Eye contact
Reflection

Posture

Territory

10. Mirroring il
Select the correct answer fromithe code

given below : £

(b) (2, 1)7
@ (L2

Squla}lfl:
Rhombus

66.
S

CF

RN AW e

fa] 2,3,4,5,6,7,8 il
(b) 3,4,5,6,7,8,9 2
(c) 1,4,6,7,8,9,10 S
(d) 1,2,4,6,8,9,10 LA

o — - o e it B o T S s i e o iy e et e B bt e e o

If the simple interest on a surln of money
at 5% per annum for 3 years,is Rs. 1,200,

e P R s g, e e e S i s =
e L penpep—————— s R ;

61. Two numbers are in the ratio 3 : 5. If each

£.

is

11

S S o e e ey e T S B W S i i Sy e e o S B

62.

63.

6.

65‘

66,
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(b) 18, 30

(c) 12,20 (@) 1%5%25 .
Rl T T 3 96T 6 504 Tiaad
fﬁ%mm 1,200 ¥ 8, o1 3l 7y
%ﬁ?ﬂﬁ?ﬁﬁtﬂmﬁmﬁm =75 &
(a) 1,261 T (b) 1,690 ¥9d
(c) 1,400 %% (d) 1,575 ¥4

(a) ST, T, SRS

(b) e, I, SThTT

(c) T, JEETEAT, BE

() T, ardanta, fEe

el Tt 2x + Sy = 10 W1 ATE U 6@ 7,
1 x-318 # Forg fag W liog A €, T8 8
(@) (0, 2) (b) (2, 1)

(©) (5, 0) @ (5,2

Tf3, ot T s i wft gend T g i
U I GHH E, § 3Y ¥ FEd 8§ 7

(a) 3TEE (b) =

(c) THeH (d) TH=EEYS

s i T S aa @ e ¢

- Eﬁ
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. HERfS

. R wa

. STEEE
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. fifers
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- Ea]
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Hifew .

W~ o bWk e

(@) 2,3,4,5,6,7, 8
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() 1,4,6,7,8,9, 10
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67. Which one of the following is N
of interpersonal interaction ?

Aaf Administrative power

65.

i

69.

qLI'Lr

T0.

5

E
A7 &

T1.

_b) Ice-breaker i

72.

T3.

e e . e et S
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OT a skill

(b) Empathy —
(€} Positive thinking
(d) Courtesy

If Sunday falls on the third r.late of a month,

then which date will fall after three days of
fourth Wednesday of the same magnth ?

Aa) 30 (b) 31 e

b &
{e) 27 (d) 29~

Which one number is like the gLven
number sct L .
(363, 489 5?9]
(a) 281
(c) 382

|
S |
o I
S i
(b) 562 37
Ady 471

Among five boys A is taller than B but not
taller than C. D is taller than C but not
taller than E. If these boys are standing in
a row in increasing order Gf Lhm.r heights,
then who will be at first pla.ce ?

|
|
|
[
I
l
i
|
|
i
il
(b) D 2 i
|
|
|
i
|
I.
|
[
i

—tt
& B

A good communicator bléﬁgins his/her
presentation with a/an

(a) Non-sequitur

i
(c) Complex question [
(d) Repetitive phrase z—_
How many times from 4 p. mi.to 10 p.m. the
hands are at right angles ?
(a) 9 (b) &
lep11 (d) 10

—
What will be the next numﬂer in the
following number series 7 5':‘5

48, 24, 72, 36, 108, 7 A

(a) 36

T M — i et s e et et

67.

68.

69.

70.

71.

e s e o s

T2,

73.

ﬁm‘ﬁaﬁaﬂﬁﬁﬁ#-m SR T
T R A R 7

(a) wEmElE wiF

(b) Wy

(c) TTEAS O

(d) frerEm

afe s w6t el ffy = WRaw R, @ b
o7 % <8 R 5 6 R e we-a R
arft 7

(a) 30 (b) 31

(c) 27 (d) 29

Sr- T den Pk gened % aE
qHE R ?

(363, 489, 579)

(a) 281 (b) 562

(c) 382 {d) 471

oig wedl i A, BE ween & feg o & wen
2 | D, cAea s g ES TN 2 13R
= T B U i i gl gl T %
# wer fran W4, © 9YH IR W HE 8 7
(a) E (b) D

(c) C (d) B

w 3TEET TEINE S Sk Fefaie 5
2 Foped ey T 8 ?

(a) TR (i Fremd)

(b) FrT A (TR )

(c) Ffew W

(d) TR ey EsE
4:00 &9 SRR ¥ 10:00 T IHE %%%
% eg Frart = ggal 90° 1 0 T € 7

(a) 9 (b) €
(c) 11 (d) 10

fretfigs wem e § SvTel e = g ?
48, 24, 72, 36, 108, ?

(a) 36 (b) 64

[ . TS THE - bt - By - e s A3l . mrd - B )
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e
. o

; to Nitin, “that boy playing
o with the football is the younger of the two
F-ﬁ; ;mﬂ'lFm of the daughter of my father's wife”,
ElEsE How is the boy Playing football related to
Deepak 7 e
(a) Son

(cl. Brother

was
(b) Nephew
(d) Cousin
75. When the mirror image of a watch was seen,
1t showed 3 : 15, What was the real time ?

f{ﬁfﬂﬂlﬁ

(b) 3:15
(c) 9:45 (d) 7:45.
76. Find the odd one out from thf.: given
alternatives. Y
() Sphinx (b) Pyramids
[e) Swastik (d) Mummy

77. What type of process is decision-making ?
éi}r- Intellectual process .
) Sematic process =

N

(c) Social process
[d} Psychological process {':‘?

A number is divided by 84 and leaves
remainder 37, If this number is divided by
12, then the remainder will be

(a) 0 (b) 3
_Ae) 1 @ 2

79. In reference to Problem-Solving,
who said, “to act is easy, to-think is
hard.” ? D

(b) E. M..Forster

(d) Goethe

78.

(a) Thompson
(c) Jean Paul

In the following figure if AB || CD. Find the
value of x°,

C : ,:.:
50° T
A B et
(a) 60° _(b) 100°°
[C] EE: ______ _}d} 5ne -t [}

L it o e L L . e e A Bt . et e o - e

e e
e e e e s ot e s s s s i s St e i e 4

74. e 3 AR @ Fa, “gedicl T T T8 T

75.

76.

77,

78.

?gr

80,

R et i vt 1 3G F o J 9 S
%.,lwéﬁ@mmﬁmﬁﬁ
gt g 7

(@) 3 ), e

(c) s (d) == T

3 : 159 181 o1 | Sreafas 96y 1 o1 7
(a): 8 : 45 (b) 3:15

(c) 9:45 (d) 7:45

i e ma fyeedi 8 @ fim fyeeew = gf |
(a) Tobww (b) Trfireg

(c) TN (d) =

focfa S o e <1 T 2 7

(a) =ifgs gl

(b) SfEe wfman

(c) wmiferes whman

(@) =TT aiRa

e U WA # 84 § i e = 2, W 37 v

sl 8 | Al gt Hen W 12 9 wm R e A
T A% G 7

(a) O (b) 3

{e) 1 (d) 2

- ¥l & rac]
HH & T o fpas @ fn P‘%

" T AEH R, W e e ) 7 o

(a) wTFTE (b) ¥. . WIe

(c) SiF ofe (d) Tirefi

=it fom 3 3R AB || CD 2, @t xo =
A B -
E

%°
100°
£
50°
A B
(a) 60° (b) 100°
(c) 80° (d) 50°

e T T e el it el s s B et ot b e e e e e
e e s S o SO s s o .
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oveyhead expenses are Rs. 15, He sells the
radio for Rs. 300. The profit percent of the

AOIL Wl

qﬁ}Fd‘F UPPCS 202T Pre Answer Key -Click here

CIZU-2-24

81, A retailer buys a radio for Rs. 225. H;;m—_éz?f%%m“‘ﬁm---Eg-é;?q:&—ﬁ_q-%iﬁih - rrr e |

T S @Y 1579 § | 98 Yedt 300 ¥

retailer is o i A= & | gau Tear 1 o vl 2
(a) 10% A (b) 52% (a) 10% (b) 52%
)
_Ae) 25% o (d) 50% (c) 25% {d) 50%

82. Find the missifig number (?) from the g2, frmfafa fre # 2 g e (?) @ HIRT |
= Tollowing figure.” X
o0 12 12 18 Bl

E- 3 12 12 18 y =
= e o7l 1 3¢° 16 12 20
‘ 5 12 ?
5 12 T 6
197 156 366
197 156 366 - B o8
(a) -6 o [b) -8 : fa) -
6 o (dy 8 i [c) © (d) &
AT i
83. At what angleq:fie hands of a clock are 1 83. 8:30 = S Ht gl R 10T T eI Bl B ?
incli it £8? ! .
inclined when _1;;:1;5 half pas | @) 70° (b) 60
(a) 70° i (b) 60° |
o 75° i (c) 80° (d) 75
{c) 8O ) h
i i ! 7
84. What is ‘star bufsting’ ? i 84, ‘WR ST H12 ]
(a) Itis related?‘fo individual’s attraction 1[ (2) ZE =ifFa & e & gl 8
(b) Itisa method of measurement E (b) & T $1 o R ]
(c) It is used for gaod communication } (c) Fa I e HaR & forg S B
It is a creative thinking and : (d) TR T W 3R S e 2
brainstorming technique i
: 7 % T W SH-H GEn R ?
85. Which number will come i the place of I 85. W frg
question mark 77 ' 143, 275, 495, ?
143, 275, 495, f%i (@) 243 (b) 683
(@) 243 w7 (b) 683 & 561 @) 927
_lg) 561 ey (d) 927
x g6. 4 f5 . Wi avd B TR @ e T A 2
26, Waﬂdngatthemtﬂcf4k1_ﬂfhﬂmm ) m%ﬁqugﬁqaqﬁﬁ‘ﬂﬂ{fiﬁﬂmﬁl
- covers a certain distance in 2 hours 6.5 B, iy g2 i i & dst W =g et
'.@E. E 45mm.RunnﬁigataspﬂedﬂfIEn,ElﬂPfhr 168, @tﬁﬁ ﬁmﬁ'ﬂ'ﬂm?
E&E¥, the man will cover the same distance in S
o _ta] 40 fire
(a) 40 min. Ll
15.J'-1' (b) 55 e 15 &F7E
bl 55 min. 13-8&C.
) _ e (c) 45 T
(c} 45 min. (I (@ 50 fire 15 HF0E
(d) 50min.15sec. ] e s s T
———————— 0110 48548 Lo
|| _e3be2 g
% PL. b0 @
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87. In the following table, what will come at the

. place of X 7 i
[ (E
S s 7T

5 & B 2 Th*

3 q 7 12 |-

6 | 10 | xu] & |
(a) 2 )8
[c) 3

/Ldl 4
88. IfBLINK is coded as 21291411, then
how will GREEN be coded ?

+ s
(a) 1455178 (b}-7185514

() 29121411 (d) 8175514
89. Find the next term of the series;:

0,4, 18, 48, 100, ... 0
(a) 120 (b) 180
(c) 160 (d) 170

90. If the perimeter and the area of a circle are
numerically equal, then the radius of the

circle is a2
(a) 7 unit ABY 2 unit ™
[c) 4 unit (d) =unit] >

91. The least perfect square which {8 divisible

by 3,4, 5,6, 8is Py
(a) 900 (b) 3600 5,
(c) 1200 (d) 2500

92. The ages of Ravish and Shildha are in the ratio
[e]Z%[=] 3 : 8. Six years hence, their ages will be in the
F‘%’ ratio 4 : 9. The present age of Ravish is

' (a) 18 year (b) 21 year’
(c) 15 year (d) 12 yeé.:_'_.:’
LR
93. Which one is different from the rest three ?
Cid
(a) NMLK _{B) WXUV ;.
(c)] RQPO (d) UTSR
94. What should be avoided while replying to
e-mails in a group conversation ?
(a) Using signature in e-mail (..}

ol

(b) Spell-checking the e-mail ;.
Replying using “Reply Ml”ljtrﬁature
unnecessarily et

/J;) {I

[d) Filling in the subject line

TS T e e b B s e e e ] e . . i

|
i
[
|
|
i
|
i
|
I
I
|
i
|
i
|
I
|
i
[
i
|
!
|
i
|
|
i

CIZU-2-24
R s—YE L e
ot
8 5 7 6 E E]
B 7 8 2 :
3 4 7 12
6 10 X 6 |
{a) 2 (b) 8
(c) 3 (d) 4

88.

829,

a0,

a1.

2,

a3.

04,

afe BLINK %! 21201411 % 59 7 %2

W%,ﬁ?GREENﬁ%Hmﬂ?EﬁHﬁm
T 7

(a) 1455178 (b) 7185514

(c) 29121411 (d) 8175514

Sft 0, 4, 18, 48, 100, ... %1 F T8 T

Hiferg |
(a) 120 (b) 180
(c) 160 (d) 170

afz s gw 6 uidy o se weeTE & 4

THE B, @ g9 5 B E

(a) 7 T (b) 2 ¥

(c) 4 ¥ (d) = 7T

wad i oo @ &t 3, 4, 5, 6, 8 7 o §
(a) 900~ AB) 3600

(¢) 12007 (d) 2500

e 3 firan < sy w1 e 3: 88 | AR
6 54 =15 ITeh! AT T T 4 : O T, A FAOAH
i ety <t 3y T BNl 7

ey 1894 (b) 21 =

(c) 1594 (d) 12 =4

md AR e ?

(a) NMLK (b) WXUV

(c) RQPO (d) UTSR

TR HaTE o $ie o I O 9 FRad =
=iy, 7

(a) 38e o wEER % IuEn @

(b) 30 ! adh W

(c) TortT rrervresan % “fieetms 3" (Reply Al
FreT S I Y

— e — s . ) ——— — — —— — ———— i — e S i v

" 0120
oL -
%}\r% l{ﬁ ;ﬁﬂ 4
f\‘\:/ b dr;q? 1"’}‘_ U'L‘!f,.-
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s CIZU-2-24
95'- if 8t of the month falls three day:e;;;ﬁ;;.__u&n@ﬁ A 371 il REr @ o7 =g ot 2,
sunday, what day will be ofix~17th of that 3 56 7@ < v i i FR-a e 7
month ? k..-.,'
(a) Thursday Ab) Fndag,r (a) FEEINTER (b) FHAR
(c) Tuesday (d) Wec{nésday () HTEET (d) FHIR
g6. Find the missing number g“fim the third 06. wmEl ﬁiﬁ'«'! q o H‘@T % T <hiferg E EI}%;,E G
El tnangle
5 65 15
" 90 ) 20 (i fa) 80 g
(c) 10 (d) 15 o (c) 10 (d) 15
g97. Find the missing number. s 97. @3 AT A HINY |
17 18 13 - 14%g 4 18 13
1225 729 1D v 1225
3
(a) 639 (b) 641, (a) 639 (b) 641
%)

In a certain language SIMPLE is written

08. % fafFag w1 § SIMPLE i ISPMEL % &9 H
méﬁ as ISPMEL and CHAPTER is written as

fo@r ST 2 33K CHAPTER 1 HCPARET % &9

|
|
i
i
|
i
i
1
|
|
i
1
{c) 542 () 5297 | (c) 542 (d) 529
|
|
|
|
HCPARET. Then LFWORE stands for which |
|
i
i
1
|

T foran < 8, O LFWORE g wieg S o & 7
word ? o
(a) LOWFER (b) WDRFEL (a) LOWFER (b) WORFEL
(c) FLOREW (%) T‘LQW ER (c) FLOREW (d) FLOWER
99. The ratio of the angles ZA 2 a.nd ZB of a | 99. f&dt wemds ABCD, sit @ =i &, & o1 2a
non-square rhombus ABCD 154 5, the value TUT LB 3O 4 : 5 % | 79 £C Frat o =0
of ZC will be B 7
(a) 50° {b) @5° (=) 50° (b) 95°
(©) 45° () 80° (c) 45° _id) 80°
100. The linear equation 3x - Sy é_%s has 100, Y& R 3x - 5y = 15 %
(a) a unique solution < ‘{“;_ (a) U FET SRl
{b) no selution » T [[b]} %ﬁ;ﬁﬁ;ﬁ S
[c) two solutions . it G
A4 infinitely many sﬂluﬁonimﬂ (d) ™ &9 & +E 7
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